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MECHANICAL ADVANTAGE IS THE LEVERAGE 
GAINED BY A MULTIPLE PART BLOCK.

THE THEORETICAL (IGNORE FRICTION)
ADVANTAGE IS EQUAL TO THE NUMBER

OF PARTS OF LINE SUPPORTING THE
TRAVELING BLOCK (LOAD).

TOTAL LOAD ON THE BLOCK IS SUM
OF ALL LOADS PLACED ON THE
BLOCK END FITTING.

EXAMPLE

PARTS OF LINE = 4
MECHANICAL ADVANTAGE = 4
LINE PULL REQUIRED = 6000/4 = 1500LBS.
LOWER BLOCK LOAD = 6000 LBS.
REQUIRED W.L.L. = 6000 LBS.
UPPER BLOCK LOAD = 6000 + LINE PULL + GEAR
                                   = 6000 + 1500 + GEAR = 7500 LBS. PLUS
REQUIRED W.L.L. = 7500 LBS. PLUS
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